
Farm Feed Systems Limited  

Tel : 44(0) 1594 825106 
Fax: 44(0) 1594 824567 

E mail : farmfeedsystems@btconnect.com  

Date : Sept 2011 

Foxes Bridge Road 
Forest Vale Industrial Estate 
Cinderford 
Gloucestershire 

GL14 2PH 
England 

 

fig. 8 Part no. Description Price each 

2 187.00012 Air Chamber 126.18 
3 187.00366 Air Screw Assembly 14.56 
4 187.00055 Air screw 10.65 
5 034.00070 Fibre Washer 10mm I/D xl5mm O/D 0.29 
6 027.00583 L/Nut 1/8" BSP x 3/4" AN Steel 3.60 
7 187.00021 Air Chamber fixing screw 17.99 
8 187.00023 Fixing screw washer 3.53 
9 187.00347 Valve Seating Joint - Neoprene 6.07 

10 187.00362 Valve Plate + 4- 187.00361 Fitted 186.43 
11 187.00013 Valve seating plate - Brass 160.43 
12 187.00361 Valve Assembly 15,87 
13 187.00024 Valve set pin 7.26 
14 187.00027 Valve Spring 2.46 
15 187.00025 Valve carrier - Brass 3.52 
16 187.00348 Valve Disc - Neoprene 2.94 
17 187.00060 Valve Lock Nut - Brass 1.40 
18 187.00365 Pump Body +20x1,21x2,22x4 636.62 
19 187.00001 Pump Body 595.41 
20 187.00046 Plunger barrel liner 20.14 
21 027.00220 Stud 3/8" x 2.06 
22 187.00368 Stud 5/16" x 3-3/16" BSW 4.90 
25 187.00141 Cover Plate 4.38 
26 021.04520 1-1/4" BSP Flange Plug 22.14 
27 028.00265 Joint - Fibre 1.27 
28 034.00072 Drain Plug 1/8" BSP - Brass 4.07 
29 034.00070 Drain Plug Joint Fiber .29 
31 187.00003 Bearing Housing 39.76 
32 187.00004 Bearing Housing Joint 2.28 
33 021.00150 Bearing RLS 6 ( LJ -  3/4" ) 27.19 
36 187.00005 Bearing end Plate 13.85 
37 187.00036 Joint - Bearing Housing 1.99 
38 187.00002 Bearing Housing 41.69 
39 187.00100 End cover-oil filler 22.10 
40 187.00077 Joint - End Cover 1.94 
41 027.01815 Oil Filler Plug 3/8" BSP 9.36 
42 027.01814 Joint - Oil Filler Plug 1.91 

44 187.00143 Joints - Complete Set 22.90 

http://btconnect.com/


 


